www.Padasalai.Net

www.Trb Tnpsc.Com

FMM

Ty

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

-perg v I M YHA .\ffv_\'\;'m,s- j

BN S ol FIRSTMIDTERMTEST 2024 R B
o U § Y R | S ENERRERE
He | " o MATHS i o X
- Time :1.30 Hrs. SONE : MARKS : 50
PART - A
= & Choose the correct answer 7X1=7"
R there are - 1024 relatlons from aset.A=-4{1,2,3,4 5} to a set B, then the
- number of elements in B is »
s, a)3 b)2 ‘ ) c)4 | - d)s8 oY
- : 2.. If {(a, 8), (6, b)} represents an identity functlons ‘then the value of a and b are
respectlve\y .
- 2a)(8,6) b)) (8,8) c) (6, 8) d) (6,6)
3 Composmon of functions is ASSOCI e N : |
_a) always true ' : b) never true .
- ©) sometimes true- '_ d) none of the above )
4 The sum of the exponents of the prime factors |n the prlme factorlzatlon of
1729 is | g .o ‘.
,_d)l"' . b) 2 _ c)3 d)4 A
5. 'An A.P. consists of 31 terms If its 16t term is m, then the sum of aII the terms
al OfthISAPIS _ .
Coam o mem CEUSE e 1
B Y. The remamder when 7X 13 X 19 X 23 X 29 x 31 1is d|V|ded by 6 is ;.é Z 'j"i S
WOt MO Y., A3 LR gy R B 8
Y - ’ R A
is. v s T TUE solutlon of the system X +y- 3z =-6,-7y + 7z = 7, 3z =9 |s Lokz
e % : W
:_a)x—l y—2 2—3 b)x--ly_,zz—3 -"‘Srf-i"wﬁ'i
& ) 1,y 22,2 -3 d) x=1, TEEE
" C) X=1 y=- = X=1,y=-2, z= Tt g™
: PART B _ '
Answer any flve questlons. (Q No. 14 is compulsory) 5 X2 & 10‘ 0 E
8. If AXB = {(3, 2), (3 4), (5 2), (5 4)} then find Aand-B.. 'ff , A A
N fi ol i
t \:‘,Let f be{a‘ function f : ""N be de med by f(x) 3X+2 xeN flnd the lmages of 2
and3. - ST : ;
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10, If f(x) = X - 6, g(x) = x2 then fmd fog and gof ‘ N T

11, Today is Tuesday My uncle quI come after 45 days In WhICh day my utn'_C,Ie wrlllbe
coming.. | ' A JAL oS

12, Which term of an A.P. 16 11 6 1, |s( 54)7

13, _Fmd the LCM of 8x“y2 48x2y A5 , | | |

14, ‘a'"and "b"are two posmve mtegers such that ab X ba = 800 Fmd .a’ and ‘b, .

_ PART c . Y Sl
IIX Answer any flve questlons. (Q No. 21 is: compulsory) 5'X 5=25
15 Let A= ‘The set of all natural numbers |ess than 8 B = The set .of all prlme

- number less than 8, C The set of even pr|me number Ver|fy that

(l) (Am B)XC = (AXC) n (BXC)

16. If f(x) = x2, g(x) = 3x, h(x) = x-2, prove that (fog)oh = fo(goh)

17. Find thesum,of all,natur.a| num.b.ers lHtween 300 and 600 WhICh are lelSlb’e _i '
-18. Use Euchd S lelSlOl‘\ algorlthm to fmd the HCF of 84 90 and 120
19. Find the sum of the series (23 13) + (43 - 33) - (63 53) 42
20.

sPi

...... upto 8 terms
5x2 + 5x - 3 h ;
Let A= {1 2,3 4} and B {2 5 8 11 14} be two sets Let f A-—>B be a functnon
glven by f(x) = 3x 1 Represent th|s functlon

Find the GCD of the polynomlals X3 + x2 - X * 2 and 2x3

by by arrow dlagram

i) in a table form m) as a. set of ordered palrs |v) ina graphlcal form }‘

‘ — PART-D
IV - Answer all the questiOns; 4 ‘ 1 x gkg

22. a) Construct a trlangle s:mllar to a glven trlangle PQR W|th |ts sndes equal to i of ;

; 3 § '
* the correspondmg S|des of the triangle PQR: (scale factor gy <1 ) (OR)

" b) Construct a triangle snmllar toa glven triangle PQR wnth |ts Sldes equal to -Z of ,

LT
the correspondlng sides of the trlangle PQR (scale factor 3 >1)
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